

# The University of Melbourne tuition fees 2016

## **Tuition fee tables for international students**

Effective as at 1 January 2016

The tuition fee tables form part of the tuition fee terms and conditions for international students and should be read in conjunction with *The University of Melbourne tuition fees 2016. Terms and conditions for international students.* 

It is important that you read these *Terms and conditions* and the University of Melbourne's *Student Fees and Charges Policy* before completing your administrative enrolment. Once you enrol, you will be bound by the University's fees policy, procedures, terms and conditions, and are agreeing to pay tuition fees for every year in which you are enrolled.

Note that the tuition fees detailed relate to 2016 only and are subject to annual review.

Tuition fees do not include costs such as Overseas Student Health Cover and certain other costs that may be required as part of your enrolment.

All tuition and other fees are paid in Australian dollars (\$AUD).

**Published by:** University Services

**CRICOS PROVIDER CODE:** 00116K

## **Table of contents**

Tuition fee tables - International	2
Disclaimer	2
Table 1: 2016 international undergraduate subject fees	3
Table 2: Typical international undergraduate course tuition fees for 2016	4
Table 3: 2016 international graduate course tuition fees	5
Melbourne School of Design   Faculty of Architecture, Building and Planning	5
Graduate School of Humanities and Social Science   Faculty of Arts	6
Melbourne Business School   Faculty of Business and Economics	8
Melbourne Graduate School of Education	9
Centre for the Study of Higher Education. Research Training and Professional Development for Graduate Researchers  Award courses	11
Melbourne School of Engineering	11
Melbourne School of Government	12
Melbourne Law School	13
Graduate Schools of the Faculty of Medicine, Dentistry and Health Sciences	15
Melbourne Graduate School of Science   Faculty of Science	17
Estimated course tuition fees for students commencing a graduate course offered by the Office for Environmental Programs in semester one 2016.	18
Faculty of VCA and MCM	19
Faculty of Veterinary and Agricultural Sciences	21
Table 4: 2016 international graduate subject fees	22
Table 5: 2016 Study Abroad tuition fees	23

## **Tuition fee tables - International**

The tuition fees tables show the subject fees for undergraduate subjects in 2016, the graduate course fees for most graduate courses in 2016, the graduate subject fees for applicable graduate courses in 2016, and the Study Abroad fees for Study Abroad courses in 2016.

The graduate course fees shown are for courses that are expected to be available to commencing graduate students in 2016.

Further details about the cost of individual subjects for commencing and continuing students are published at: enrolment.unimelb.edu.au/fees

The tuition fee tables form part of the tuition fee terms and conditions for international students and should be read in conjunction with *The University of Melbourne tuition fees 2016. Terms and conditions for international students.* 

## **Disclaimer**

The University has used its best endeavour to ensure that materials contained in this publication were correct at the time of printing. The University gives no warranty and accepts no responsibility for the accuracy or completeness of information and the University reserves the right to make changes without notice at any time in its absolute discretion.

## Table 1: 2016 international undergraduate subject fees

The subject fees in table 1 set out the basis for calculating your tuition fees but do not necessarily represent the fees for a typical undergraduate enrolment. The fees shown in table 1 are for each 100 credit points (1 EFTSL)<sup>1</sup> of study in that discipline fee band. Most undergraduate courses require students to enrol in subjects from more than one discipline fee band for a total study load across all subjects of 100 credit points per year.

Broad area of study	Discipline fee band	2016 international undergraduate subject fee (\$AUD/EFTSL)
Agriculture, Engineering, Sciences and Veterinary	Agriculture (including Agriculture - Dookie)	\$37,696
Science	Computing	\$37,376
	Engineering	\$37,376
	Information Systems	\$37,376
	Mathematics, Statistics	\$35,872
	Optometry	\$44,352
	Science	\$38,016
	Surveying	\$37,376
	Veterinary Science	\$59,744
Built and Natural Environment	Built Environment	\$36,192
Business and Economics	Accounting, Administration, Commerce, Economics	\$37,568
Education	Education	\$28,128
ealth and Medical Sciences	Behavioural Science	\$36,544
	Dentistry	\$59,488
	Health (non-clinical)	\$36,544
	Medicine	\$75,808
	Medicine (clinical)	\$80,224
	Nursing	\$27,680
	Other Health	\$36,544
	Physiotherapy	\$38,752
Humanities, Social Sciences and Languages	Arts, Foreign Languages, Humanities, Social Studies	\$28,288
Law	Law	\$37,920
Music, Visual and Performing Arts	VCA (Audio Visual)	\$50,528
	VCA (Foundation study)	\$19,200
	VCA (General)	\$25,984
	VCA (Performing Arts)	\$25,984
	Visual and Performing Arts	\$25,984

\_

<sup>&</sup>lt;sup>1</sup> 100 credit points is a standard full-time study load for one year of study.

## **Table 2: Typical international undergraduate course tuition fees for 2016**

The fees in table 2 provide an estimate of the course tuition fees for students commencing an undergraduate course in semester one 2016. As far as possible, the fees provided in this table show the typical tuition fees that a student enrolled in each undergraduate course will pay for the first year of the course in 2016. As a guide, a typical total course fee is also shown.

For most courses the typical tuition fees are based on subject enrolments normally undertaken by students in the course, and reflect the discipline band of the subjects comprising the degree. For some degrees a typical fee range is shown, due to the wide range of variables that may affect the course structure, and subjects taken.

#### Please note that:

- The fees provided are indicative only and may vary depending on the number of subjects undertaken, their credit point value and the
  discipline band for each subject undertaken during your enrolment. Actual tuition fees payable may vary and will be the sum of the
  fees for all subjects in which you enrol.
- The 2016 typical course fee shown provides an estimate of the tuition fees for the first year of the course. This estimate assumes a full-time study load, commencing semester one, and is for 2016 only. If, for example, you complete a subject sequence in one year that is more than one EFTSL your fee liability will increase.
- The typical total course fee shown provides an estimate of the tuition fees for the whole course. This estimate is based on typical
  subject enrolments in each year of the course with indexation of the 2016 international undergraduate subject fees at five per cent
  per annum for every additional year of study after 2016. The amount shown assumes students complete no more than the course
  duration indicated.

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 typical course fee (\$AUD/EFTSL)	Typical total course fee (\$AUD)
Bachelor degrees	Associate Degree in Urban Horticulture	2	086007D	\$37,776	\$77,448
	Bachelor of Agriculture	3	037228G	\$37,548	\$118,700
	Bachelor of Arts	3	002167E	\$28,248-\$31,936	\$89,112-\$100,744
	Bachelor of Biomedicine	3	058838G	\$35,048-\$37,456	\$122,120-\$129,712
	Bachelor of Commerce	3	002143B	\$35,228-\$37,624	\$111,092-\$118,706
	Bachelor of Environments	3	058839G	\$34,364-\$37,776	\$107,972-\$119,136
	Bachelor of Fine Arts	3	075490A	\$25,984-\$47,460	\$81,952-\$153,008
	Estimates for specialisation in Animation			\$47,460	\$153,008
	Estimates for specialisation in Film and Television			\$41,324	\$140,272
	Estimates for most other specialisations			\$25,984	\$81,952
	Bachelor of Music	3	058837J	\$26,520-28,992	\$83,064-\$91,520
	Bachelor of Oral Health	3	053176D	\$53,752	\$175,800
	Bachelor of Science	3	002153M	\$34,372-37,992	\$108,652-\$143,512
Honours and	Bachelor of Agriculture (Honours)	1	037229G	\$37,696	\$37,696
equivalents	Bachelor of Arts (Honours)	1	009645A	\$28,288	\$28,288
	For Bachelor of Arts (Honours) with studies in Psychology	1	053178B	\$36,544	\$36,544
	Bachelor of Biomedicine (Honours)	1	073113J	\$38,016	\$38,016
	Bachelor of Commerce (Honours)	1	014798G	\$37,568	\$37,568
	Bachelor of Environments (Honours)	1	073112K	\$37,696	\$37,696
	Bachelor of Fine Arts (Honours)	1	029294J	\$25,984-\$50,528	\$25,984-\$50,528
	Bachelor of Music (Honours)	1	060219F	\$25,984	\$25,984
	Bachelor of Science (Honours)	1	014791D	\$38,016	\$38,016
	For Bachelor of Science (Honours) with studies in Psychology	1	053177C	\$36,544	\$36,544
Concurrent	Diploma in Informatics	1	069831B	\$37,376	
diplomas *	Diploma in Languages	1	065143C	\$28,288	
	Diploma in Mathematical Sciences	1	069829G	\$35,872	
	Diploma in Music (Practical)	1	022054D	\$25,984	

<sup>\*</sup>These diplomas are studied concurrently on a part-time basis with a Bachelor's degree. The 1 EFTSL duration shown is usually completed over three to four years.

## Table 3: 2016 international graduate course tuition fees

The course fees in table 3 set out the basis for calculating your tuition fees showing the fee for each 100 credit points (1 EFTSL)<sup>2</sup> of study in that course (2016 International course fee).

The table also provides an estimate of the tuition fees for the first year of the course, and an indicative total course fee. These fees are provided as a guide only and are based on a typical study load for students commencing the course in semester one 2016. Please note that unless indicated:

- The estimated fee year 1 assumes a full-time study load, commencing semester one, and is for 2016 only.
- The indicative total course fee assumes a full-time study load over the duration shown, commencing semester one 2016, with indexation of the 2016 international course fee at 5 per cent per annum for every additional year of study.
- It is assumed that courses less than one EFTSL duration are completed in less than one year and in 2016.

#### Melbourne School of Design | Faculty of Architecture, Building and Planning

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Diploma	Graduate Diploma in Built Environments	1	080611K	\$36,512	\$36,512	\$36,512	
	Graduate Diploma in Built Environments (Advanced)	1	080610M	\$36,512	\$36,512	\$36,512	
	Graduate Diploma in Property Valuation	1	052669B	\$36,512	\$36,512	\$36,512	
Masters (Coursework)	Master of Architecture	3	061224A	\$36,512	\$36,512	\$115,104	Duration indicated is maximum course duration. May be completed in less EFTSL depending upon academic background and/or relevant work experience.
		2	see above	\$36,512	\$36,512	\$74,850	
	Master of Construction Management	3	061198J	\$36,512	\$36,512	\$115,104	Note: as above
		2	see above	\$36,512	\$36,512	\$74,850	
	Master of Design	1	074683M	\$36,512	\$36,512	\$36,512	
	Master of Landscape Architecture	3	061209M	\$36,512	\$36,512	\$115,104	Note: as above
		2	see above	\$36,512	\$36,512	\$74,850	
	Master of Property	3	061195A	\$36,512	\$36,512	\$115,104	Note: as above
		2	see above	\$36,512	\$36,512	\$74,850	
	Master of Urban and Cultural Heritage	1	082253M	\$36,512	\$36,512	\$36,512	
	Master of Urban Design	2	072812A	\$36,512	\$36,512	\$74,850	
	Master of Urban Planning	2	002524M	\$36,512	\$36,512	\$74,850	
Research							
Doctorate by Research	Doctor of Philosophy - Architecture, Building and Planning	4	056961K	\$36,512	\$36,512	\$157,371	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
Masters (Research)	Master of Philosophy - Architecture, Building and Planning	2	061947K	\$36,512	\$36,512	\$74,850	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.

<sup>&</sup>lt;sup>2</sup> 100 credit points is a standard full-time study load for one year of study.

## **Graduate School of Humanities and Social Science | Faculty of Arts**

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Arts	0.5	031944F	\$28,480	\$14,240	\$14,240	
	Graduate Certificate in Arts (Advanced)	0.5	031945E	\$30,528	\$15,264	\$15,264	
	Graduate Certificate in Journalism (Advanced)	0.5	085948M	\$30,848	\$15,424	\$15,424	
	Graduate Certificate in Publishing and Communications (Advanced)	0.5	085949K	\$30,528	\$15,264	\$15,264	
Graduate Diploma	Graduate Diploma in Arts	1	023190K	\$28,480	\$28,480	\$28,480	
	Graduate Diploma in Arts (Advanced)	1	023185G	\$30,528	\$30,528	\$30,528	
	Graduate Diploma in Arts and Cultural Management (Advanced)	1	075125M	\$30,528	\$30,528	\$30,528	
	Graduate Diploma in Journalism (Advanced)	1	085951E	\$30,848	\$30,848	\$30,848	
	Graduate Diploma in Publishing and Communications (Advanced)	1	085952D	\$30,528	\$30,528	\$30,528	
Masters (Coursework)	Executive Master of Arts	2	068099M	\$30,848	\$30,848	\$63,238	Duration indicated is maximum course duration. May be completed in less EFTSL depending upon academic background and/or relevant work experience.
		1.5	see above	\$30,848	\$30,848	\$47,043	
		1	see above	\$30,848	\$30,848	\$30,848	
	Master of Applied Linguistics	2	077928D	\$30,528	\$30,528	\$62,582	Note: as above
		1.5	see above	\$30,528	\$30,528	\$46,555	
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Art Curatorship	2	027565G	\$30,528	\$30,528	\$62,582	Note: as above
		1.5	see above	\$30,528	\$30,528	\$46,555	
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Arts and Cultural Management	2	073305A	\$32,128	\$32,128	\$65,862	Note: as above
		1.5	see above	\$32,128	\$32,128	\$48,995	
		1	see above	\$32,128	\$32,128	\$32,128	
	Master of Arts in Professional and Applied Ethics	2	081165G	\$30,528	\$30,528	\$62,582	
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Creative Writing, Publishing and Editing	2	058718E	\$30,528	\$30,528	\$62,582	Note: as above
	Master of Criminology	2	055074E	\$30,528	\$30,528	\$62,582	Note: as above
		1.5	see above	\$30,528	\$30,528	\$46,555	
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Cultural Material Conservation	2	061638A	\$30,528	\$30,528	\$62,582	Note: as above
		1.5	see above	\$30,528	\$30,528	\$46,555	
		1	see above	\$30,528	\$30,528	\$30,528	

#### Graduate School of Humanities and Social Science | Faculty of Arts (cont)

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Masters (Coursework)	Master of Global Media Communication	2	045345C	\$30,528	\$30,528	\$62,582	Note: as above
		1.5	see above	\$30,528	\$30,528	\$46,555	
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Journalism	2	075464C	\$30,848	\$30,848	\$63,238	
		1.5	see above	\$30,848	\$30,848	\$47,043	
		1	see above	\$30,848	\$30,848	\$30,848	
	Master of Marketing Communications	2	085102B	\$31,232	\$31,232	\$64,026	
		1	see above	\$31,232	\$31,232	\$31,232	
	Master of Publishing and Communications	2	061634E	\$30,528	\$30,528	\$62,582	Note: as above
		1.5	see above	\$30,528	\$30,528	\$46,555	
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Social Policy	2	049598E	\$30,528	\$30,528	\$62,582	Note: as above
		1.5	see above	\$30,528	\$30,528	\$46,555	
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Translation	1.5	085106J	\$30,528	\$30,528	\$46,555	
	Master of Translation (Extended)	2	085107G	\$30,528	\$30,528	\$62,582	
Research							
Doctorate by Research	Doctor of Philosophy - Arts	4	056954J	\$30,528	\$30,528	\$131,579	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
Masters (Research)	Master of Arts (Advanced Seminar & Shorter Thesis)	2	080605G	\$30,528	\$30,528	\$62,582	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.
	Master of Arts (Thesis only)	2	007306C	\$30,528	\$30,528	\$62,582	Note: as above

## Melbourne Business School | Faculty of Business and Economics

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Diploma	Graduate Diploma in Actuarial Science	1	070383M	\$38,656	\$38,656	\$38,656	
	Graduate Diploma in Economics	1	083552C	\$38,656	\$38,656	\$38,656	
	Graduate Diploma in Finance	1	083553B	\$38,656	\$38,656	\$38,656	
Masters (Coursework)	Master of Actuarial Science	2	070382A	\$38,656	\$38,656	\$79,245	
	Master of Commerce (Actuarial Science)	1	080607F (tba)	\$38,656	\$38,656	\$38,656	
	Master of Commerce (Finance)	1	009683F	\$38,656	\$38,656	\$38,656	
	Master of Commerce (Management)	1.5	075103F	\$38,656	\$38,656	\$58,950	
	Master of Commerce (Marketing)	1.5	075103F	\$38,656	\$38,656	\$58,950	
	Master of Economics	2	065396D	\$38,656	\$38,656	\$79,245	
	Master of Entrepreneurship	1.5	tba	\$32,000	\$48,000	\$48,000	Fees subject to confirmation and final approval. 1.5 EFTSL is completed in one year.
	Master of Enterprise	1.5	080338M	\$38,656	\$38,656	\$58,950	,
	Master of Enterprise (Science)	1.5	080338M	\$38,656	\$38,656	\$58,950	
	Master of Finance	2	065397C	\$38,656	\$38,656	\$79,245	
	Master of International Business	2	080608E	\$38,656	\$38,656	\$79,245	
		1.5	054184G	\$38,656	\$38,656	\$58,950	
	Master of Management	2	064496G	\$38,656	\$38,656	\$79,245	
		1.5	075104E	\$38,656	\$38,656	\$58,950	
	Master of Management (Accounting and Finance)	2	085103A	\$38,656	\$38,656	\$79,245	
	Master of Management (Accounting)	2	064496G	\$38,656	\$38,656	\$79,245	
		1.5	075104E	\$38,656	\$38,656	\$58,950	
	Master of Management (Finance)	2	064496G	\$38,656	\$38,656	\$79,245	
		1.5	075104E	\$38,656	\$38,656	\$58,950	
	Master of Management (Human Resources)	2	064496G	\$38,656	\$38,656	\$79,245	
		1.5	075104E	\$38,656	\$38,656	\$58,950	
	Master of Management (Marketing)	2	064496G	\$38,656	\$38,656	\$79,245	
		1.5	075104E	\$38,656	\$38,656	\$58,950	
	Master of Supply Chain Management	1.5	080339K	\$38,656	\$38,656	\$58,950	
Research							
Doctorate by Research	Doctor of Philosophy - Business and Economics	4	056955G	\$38,656	\$38,656	\$166,612	4 year duration shown. For some streams may be completed in 3-4 EFTSL.
Masters (Research)	Master of Commerce	1	006654B	\$38,656	\$38,656	\$38,656	

Students seeking fee information about courses offered by MBS Ltd, such as the Master of Business Administration (Full-time, Part-time, Executive or Senior Executive) or Master of Marketing should see the relevant program entries at: https://mbs.edu/programs

#### **Melbourne Graduate School of Education**

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Early Literacy Intervention	0.5	tba	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Education	0.5	075300A	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Education (International Baccalaureate) Diploma Programme	0.5	075300A	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Education (International Baccalaureate) Primary Years Programme	0.5	075300A	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Education (Specific Learning Difficulties)	0.5	075300A	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Educational Research	0.5	070381B	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Evaluation [Mode: On campus]	0.5	073591A	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Evaluation [Mode: Online]	0.5	na - online	\$21,728	\$10,864	\$10,864	Only available online.
	Graduate Certificate in Modern Languages Education (Stream A)	0.5	077925G	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in Modern Languages Education (Stream B)	0.5	077925G	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in TESOL (Stream A)	0.5	075313G	\$30,240	\$15,120	\$15,120	
	Graduate Certificate in TESOL (Stream B)	0.5	075313G	\$30,240	\$15,120	\$15,120	
Masters (Coursework)	Master of Applied Positive Psychology	1	079279E	\$45,408	\$45,408	\$45,408	
	Master of Education	1	056817G	\$30,240	\$30,240	\$30,240	
	Master of Education (Educational Management)	1.5	002126C	\$30,240	\$30,240	\$46,116	
		1	002126C	\$30,240	\$30,240	\$30,240	
	Master of Education (International Baccalaureate) Diploma Programme	1	056817G	\$30,240	\$30,240	\$30,240	
	Master of Education (International Baccalaureate) Primary Years Programme	1	056817G	\$30,240	\$30,240	\$30,240	
	Master of Education (Student Wellbeing)	1	079648G	\$30,240	\$30,240	\$30,240	
	Master of Education Policy (International)	1	052665F	\$30,240	\$30,240	\$30,240	
	Master of Educational Psychology	2	009699J	\$30,240	\$30,240	\$61,992	
	Master of Evaluation [Mode: On campus]	1	073589F	\$30,240	\$30,240	\$30,240	
	Master of Evaluation [Mode: Online]	1	na - online	\$21,728	\$21,728	\$21,728	Only available online.
	Master of Global Studies in Education	1	na - online	\$21,728	\$21,728	\$21,728	Only available online.

#### Melbourne Graduate School of Education (cont)

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Masters (Coursework)	Master of Instructional Leadership	1	084959E	\$33,056	\$33,056	\$33,056	
	Master of Learning Intervention	1	085104M	\$30,240	\$30,240	\$30,240	
	Master of Modern Languages Education (Stream A)	1	077926F	\$30,240	\$30,240	\$30,240	
	Master of Modern Languages Education (Stream B)	1	077929C	\$30,240	\$30,240	\$30,240	
	Master of Teaching (Early Childhood)	2	061226K	\$32,864	\$32,864	\$67,371	
	Master of Teaching (Early Years)	2	061226K	\$32,864	\$32,864	\$67,371	Course only available as an option for students completing the final 50 credit point study sequence in Master of Teaching (Early Childhood). Course structure involves students completing 150 credit points of the Master of Teaching (Early Childhood) followed by a final 50 credit point sequence. Students choosing this option complete the Master of Teaching (Early Years) instead of the Master of Teaching (Early Childhood).
	Master of Teaching (Primary)	2	061226K	\$32,864	\$32,864	\$67,371	
	Master of Teaching (Secondary)	2	061228G	\$32,864	\$49,296	\$66,550	The course duration (2 EFSTL) is completed over 1.5 years. Course structure involves students completing 150 credit points (1.5 EFTSL) in the first year of the course PLUS 50 credit points (0.5 EFTSL) in second year. Students can graduate with a Graduate Diploma in Teaching after completing 150 credit points.
	Master of TESOL (Stream A)	1	045528G	\$30,240	\$30,240	\$30,240	
	Master of TESOL (Stream B)	1	045528G	\$30,240	\$30,240	\$30,240	
Doctorate by Research	Doctor of Education	4	051658B	\$30,240	\$30,240	\$130,338	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
	Doctor of Philosophy - Education	4	056968C	\$30,240	\$30,240	\$130,338	Note: as above
	Master of Educational Psychology/Doctor of Philosophy	4	056962J	\$30,240	\$30,240	\$130,338	
Masters (Research)	Master of Education (Educational Management)	2	002127B	\$30,240	\$30,240	\$61,992	Students are expected to complete in in 1.5 EFTSL but course may be completed in 1.5-2 EFTSL. Total indicative fee based on maximum duration of 2 EFSTL.
	Master of Education (International Baccalaureate)	2	002127B	\$30,240	\$30,240	\$61,992	Note: as above
	Master of Education (Stream 150) Major Thesis	2	002127B	\$30,240	\$30,240	\$61,992	Note: as above
	Master of Evaluation	2	073590B	\$30,240	\$30,240	\$61,992	Note: as above
	Master of Philosophy - Education	2	061950D	\$30,240	\$30,240	\$61,992	Note: as above

Students seeking fee information about the Master of English in a Global Context (077472J) should see: www.hawthornenglish.com/MEGC.html

#### Centre for the Study of Higher Education. Research Training and Professional Development for Graduate Researchers | Award courses

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Advanced Learning and Leadership	0.5	071300M	\$30,240	\$15,120	\$15,120	Fees subject to final approval. Estimated fee yr 1 shown is for first year of study, commencing semester 2 2016. Only available to enrolled University of Melbourne research students (all disciplines).

#### **Melbourne School of Engineering**

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Information Systems	0.5	078389G	\$37,376	\$18,688	\$18,688	
	Graduate Certificate in Information Systems (Advanced)	0.5	035407K	\$37,376	\$18,688	\$18,688	
Graduate Diploma	Graduate Diploma in Information Systems	1	024749A	\$37,376	\$37,376	\$37,376	
Masters (Coursework)	Master of Energy Systems	1.5	075124A	\$37,376	\$37,376	\$56,998	Duration indicated is maximum course duration. May be completed in less EFTSL depending upon academic background and/or relevant work experience.
	Master of Engineering	3	069275C	\$37,376	\$37,376	\$117,828	Note: as above
		2	see above	\$37,376	\$37,376	\$76,621	
	Master of Engineering Management	1	054325K	\$37,376	\$37,376	\$37,376	Note: as above
	Master of Engineering Structures	1	053355A	\$37,376	\$37,376	\$37,376	Note: as above
	Master of Environmental Engineering	1	032293F	\$37,376	\$37,376	\$37,376	Note: as above
	Master of Information Systems	2	055847J	\$37,376	\$37,376	\$76,621	Note: as above
		1.5	see above	\$37,376	\$37,376	\$56,998	
		1	see above	\$37,376	\$37,376	\$37,376	
	Master of Information Technology	2	077475F	\$37,376	\$37,376	\$76,621	Note: as above
		1.5	see above	\$37,376	\$37,376	\$56,998	
		1	see above	\$37,376	\$37,376	\$37,376	
	Master of Science (Computer Science)	2	062189B	\$37,376	\$37,376	\$76,621	
	Master of Telecommunications Engineering	1	027900G	\$37,376	\$37,376	\$37,376	Note: as above
Research							
Doctorate by Research	Doctor of Philosophy - Engineering	4	056957F	\$38,400	\$38,400	\$165,509	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
Masters (Research)	Master of Philosophy - Engineering	2	061951C	\$38,400	\$38,400	\$78,720	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.

#### **Melbourne School of Government**

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Arts	0.5	031944F	\$28,480	\$14,240	\$14,240	
	Graduate Certificate in Arts (Advanced)	0.5	031945E	\$30,528	\$15,264	\$15,264	
Graduate Diploma	Graduate Diploma in Arts	1	023190K	\$28,480	\$28,480	\$28,480	
	Graduate Diploma in Arts (Advanced)	1	023185G	\$30,528	\$30,528	\$30,528	
Masters (Coursework)	Master of Development Studies	2	031145D	\$32,128	\$32,128	\$65,862	Duration indicated is maximum course duration. May be completed in less EFTSL depending upon academic background and/or relevant work experience.
		1.5	see above	\$32,128	\$32,128	\$48,995	
		1	see above	\$32,128	\$32,128	\$32,128	
	Master of International Relations	2	068096C	\$30,528	\$30,528	\$62,582	Note: as above
		1	see above	\$30,528	\$30,528	\$30,528	
	Master of Public Administration	1.5	080609D	\$37,696	\$37,696	\$57,486	
	Master of Public Administration (Enhanced)	2	080150A	\$37,696	\$37,696	\$77,277	
	Master of Public Policy and Management	2	020385A	\$31,744	\$31,744	\$65,075	Note: as above
		1.5	see above	\$31,744	\$31,744	\$48,410	
		1	see above	\$31,744	\$31,744	\$31,744	
Research							
Doctorate by Research	Doctor of Philosophy - Arts	4	056954J	\$30,528	\$30,528	\$131,579	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
Masters (Research)	Master of Arts (Advanced Seminar & Shorter Thesis)	2	080605G	\$30,528	\$30,528	\$62,582	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.
	Master of Arts (Thesis only)	2	007306C	\$30,528	\$30,528	\$62,582	Note: as above

#### **Melbourne Law School**

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework					,		
Graduate Diploma	Graduate Diploma in Asian Law	0.5	075335A	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Banking and Finance Law	0.5	075334B	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Communications Law	0.5	075316D	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Competition and Consumer Law	0.5	088477B	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Construction Law	0.5	075333C	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Corporations and Securities Law	0.5	075332D	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Dispute Resolution	0.5	075331E	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Employment and Labour Relations Law	0.5	075252D	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Energy and Resources Law	0.5	077727В	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Environmental Law	0.5	077726C	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Government Law	0.5	075330F	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Health and Medical Law	0.5	075329K	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Human Rights Law	0.5	075314F	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Intellectual Property Law	0.5	075327A	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in International Economic Law	0.5	075317C	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in International Law	0.5	075326B	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in International Tax	0.5	075325C	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Legal Studies	0.5	075319A	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Sports Law	0.5	075318B	\$37,888	\$18,944	\$18,944	
	Graduate Diploma in Taxation Law	0.5	075324D	\$37,888	\$18,944	\$18,944	
Masters (Coursework)	Juris Doctor	3	073303C	\$37,888	\$37,888	\$119,442	
	Master of Banking and Finance Law	1	075003K	\$37,888	\$37,888	\$37,888	Estimated fee year 1 and total course fee shown assumes completion of study within one year, commencing semester 1.
	Master of Commercial Law	1	074997D	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Competition and Consumer Law	1	081321A	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Construction Law	1	074998C	\$37,888	\$37,888	\$37,888	Note: as above

#### Melbourne Law School (cont)

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Masters (Coursework)	Master of Employment and Labour Relations Law	1	074995F	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Energy and Resources Law	1	077729M	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Environmental Law	1	077728A	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Health and Medical Law	1	074999B	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Human Rights Law	1	088072A	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Intellectual Property Law	1	075000B	\$37,888	\$37,888	\$37,888	Note: as above
	Master of International Tax	1	031950G	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Law and Development	1	051271K	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Laws (Coursework and Minor Thesis)	1	074996E	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Laws (Coursework)	1	074996E	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Private Law	1	076224M	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Public and International Law	1	075001A	\$37,888	\$37,888	\$37,888	Note: as above
	Master of Taxation	1	075002M	\$37,888	\$37,888	\$37,888	Note: as above
Research							
Doctorate by Research	Doctor of Philosophy - Law	4	056956G	\$37,888	\$37,888	\$163,302	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
Masters (Research)	Master of Philosophy - Law	2	061967F	\$37,888	\$37,888	\$77,670	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.

## Graduate Schools of the Faculty of Medicine, Dentistry and Health Sciences

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Adolescent Health and Wellbeing	0.5	na - online	\$37,952	\$18,976	\$18,976	Available by distance mode only.
	Graduate Certificate in Ageing	0.5	na - online	\$24,416	\$12,208	\$12,208	Only available online.
	Graduate Certificate in Physiotherapy	0.5	041638M*	\$37,568	\$18,784	\$18,784	*Other codes may apply.
	Graduate Certificate in Primary Care Nursing	0.5	na	\$28,192	\$14,096	\$14,096	Only available part-time.
	Graduate Certificate in Sexual Health	0.5	tba	\$41,568	\$20,784	\$20,784	
	Specialist Certificate in Ageing	0.25	na - online	\$24,416	\$6,104	\$6,104	Only available online.
Graduate Diploma	Graduate Diploma in Adolescent Health and Wellbeing	1	na - online	\$37,952	\$37,952	\$37,952	Available by distance mode only.
	Graduate Diploma in Ageing	1	na - online	\$24,416	\$24,416	\$24,416	Only available online.
	Graduate Diploma in Biostatistics	1	088479M	\$41,568	\$41,568	\$41,568	
	Graduate Diploma in Mental Health Science	1	na	\$41,568	\$20,784	\$42,607	1 EFTSL usually completed over 2 years.
	Graduate Diploma in Nursing Practice (Mental Health)	1	na	\$28,192	\$28,192	\$28,192	
	Graduate Diploma in Primary Care Nursing	1	na	\$28,192	\$28,192	\$28,192	Usually completed part-time.
	Graduate Diploma in Psychology	1.25	061720G	\$36,576	\$45,720	\$45,720	<ol> <li>1.25 EFTSL usually completed in one year.</li> </ol>
	Graduate Diploma in Psychology (Advanced)	1	026666K	\$36,576	\$36,576	\$36,576	
Masters (Coursework)	Doctor of Dental Surgery	4	071303G	\$74,464	\$74,464	\$320,949	
	Doctor of Medicine	4	071304G	\$74,464	\$74,464	\$320,949	
	Doctor of Optometry	4	072811B	\$44,064	\$44,064	\$189,921	
	Doctor of Physiotherapy	3	071302J	\$44,704	\$44,704	\$140,929	
	Master of Adolescent Health & Wellbeing	2	na - online	\$41,568	\$41,568	\$85,214	Available by distance mode only.
	Master of Advanced Nursing	1.5	085339C	\$28,192	\$28,192	\$42,993	
	Master of Advanced Nursing Practice (Mental Health)	1.5	tba	\$28,192	\$28,192	\$42,993	
	Master of Ageing	1.5	na - online	\$24,416	\$24,416	\$37,234	Only available online.
	Master of Biomedical Science	2	079405D	\$32,864	\$32,864	\$67,371	
	Master of Biostatistics	1.5	088478A	\$41,568	\$41,568	\$63,391	
	Master of Clinical Audiology	2	062905A	\$44,352	\$44,352	\$90,922	
	Master of Epidemiology	1	037931G	\$41,568	\$41,568	\$41,568	

Graduate Schools of the Faculty of Medicine, Dentistry and Health Sciences (cont)

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Masters (Coursework)	Master of Genetic Counselling	2	061969D	\$41,568	\$41,568	\$85,214	
,	Master of Mental Health Science	1.5	na	\$41,568	\$20,784	\$65,522	1.5 EFTSL usually completed over 3 years. Indicative total shown is for 0.5 EFTSL per year for 3 years.
	Master of Nursing Science	2	061211F	\$27,680	\$27,680	\$56,744	
	Master of Psychiatry	1.5	079406C	\$42,784	\$64,176	\$64,176	1.5 EFTSL is completed in one year.
	Master of Psychology (Clinical - Singapore)	2	053838D	\$41,568	\$41,568	\$85,214	Course involves students completing their first year of study at the University of Melbourne and second year of study in Singapore. Fees shown are for the first year of study. For fees relating to the study in Singapore see http://www.fas.nus.edu.sg/prospective/grad/courseworl/fees.html
	Master of Psychology (Clinical Neuropsychology)	2	009681G	\$41,568	\$41,568	\$85,214	
	Master of Psychology (Clinical)	2	009681G	\$41,568	\$41,568	\$85,214	
	Master of Public Health	2	020358D	\$41,568	\$41,568	\$85,214	
	Master of Social Work	2.25	061212E	\$29,632	\$37,040	\$68,154	Students normally complete 125 credit points (1.25 EFTSL) in the first year, and 100 credit points (1 EFTSL) in the second year.
	Master of Speech Pathology	2	073115G	\$44,352	\$44,352	\$90,922	
Doctorate by Coursework	Doctor of Clinical Dentistry	3	076196K	\$57,728	\$57,728	\$181,988	
Research	Desta esta de disei	4	0664564	ć=7.720	ć57.720	Ć240.04E	Total indicative fee based on
Doctorate by Research	Doctor of Medical Science	4	066156A	\$57,728	\$57,728	\$248,815	Total indicative fee based on completion within 4 years. May be completed in 3-4 EFTSL.
	Doctor of Philosophy - Medicine, Dentistry and Health Sciences	4	006670B	\$37,376	\$37,376	\$161,095	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
	Master of Psychology (Clinical Neuropsychology)/Doct or of Philosophy	4	037232A	\$41,568	\$41,568	\$179,163	
	Master of Psychology (Clinical Psychology)/Doctor of Philosophy	4	037232A	\$41,568	\$41,568	\$179,163	
Higher Doctorate	Doctor of Medical Science [by compilation of papers]	na*	na	\$28,896	\$28,896	\$28,896	The graduate course fee shown is for compilation/submission of papers and/or Examination fee for the course
Masters (Research)	Master of Advanced Social Work (Research)	1.5	064990E	\$37,376	\$37,376	\$56,998	
	Master of Medicine (Thesis)	1	007317M	\$57,728	\$57,728	\$57,728	
	Master of Philosophy - MDHS (Biomedical Science)	2	tba	\$37,376	\$37,376	\$76,621	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.
	Master of Philosophy - MDHS (Dental Science)	2	061955K	\$37,376	\$37,376	\$76,621	Note: as above
	Master of Philosophy - MDHS (Health Sciences)	2	tba	\$37,376	\$37,376	\$76,621	Note: as above
	Master of Philosophy - MDHS (Medicine)	2	061956J	\$37,376	\$37,376	\$76,621	Note: as above

#### Graduate Schools of the Faculty of Medicine, Dentistry and Health Sciences (cont)

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Research							
Masters (Research)	Master of Philosophy - MDHS (Population and Global Health)	2	tba	\$37,376	\$37,376	\$76,621	Note: as above
	Master of Philosophy - MDHS (Psychological Sciences)	2	tba	\$37,376	\$37,376	\$76,621	Note: as above
	Master of Primary Health Care	1	046262J	\$57,728	\$57,728	\$57,728	
•	Master of Research	2	079646J	\$37,376	\$37,376	\$76,621	
•	Master of Surgery	1	006666J	\$57,728	\$57,728	\$57,728	

#### Melbourne Graduate School of Science | Faculty of Science

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Bushfire Planning and Management	0.5	073114G	\$35,424	\$17,712	\$17,712	
	Graduate Certificate in Forest Systems Management	0.5	088075J	\$35,424	\$17,712	\$17,712	
	Graduate Certificate in Science	0.625	tba	\$33,312	\$20,820	\$20,820	Availability for international students who require a student visa to study in Australia to be confirmed.
Graduate Diploma	Graduate Diploma in Bushfire Planning and Management	1	073111M	\$35,424	\$35,424	\$35,424	
	Graduate Diploma in Forest Systems Management	1	088074K	\$35,424	\$35,424	\$35,424	
	Graduate Diploma in Science	1.25	085609G	\$33,312	\$33,312	\$42,056	Estimated fee yr 1 shown is for the first year of study and assumes full time study and completion of 100 credit points (1 EFTSL) in the first year. Availability for international students who require a student visa to study in Australia to be confirmed.
	Graduate Diploma in Science (Advanced)	1	023188D	\$33,312	\$33,312	\$33,312	
	Graduate Diploma in Urban Horticulture	1	061122G	\$35,424	\$35,424	\$35,424	
Masters (Coursework)	Master of Biotechnology	2	072809G	\$33,312	\$33,312	\$68,290	
	Master of Forest Ecosystem Science	2	061123F	\$35,424	\$35,424	\$72,619	
	Master of Geoscience	2	tba	\$33,312	\$33,312	\$68,290	
	Master of Science (Bioinformatics)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Science (BioSciences)	2	tba	\$33,312	\$33,312	\$68,290	
	Master of Science (Chemistry)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Science (Earth Sciences)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Science (Ecosystem Science)	2	tba	\$33,312	\$33,312	\$68,290	

#### Melbourne Graduate School of Science | Faculty of Science (cont)

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Masters (Coursework)	Master of Science (Epidemiology)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Science (Geography)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Science (Mathematics and Statistics)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Science (Physics)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Science (Vision Science)	2	062189B	\$33,312	\$33,312	\$68,290	
	Master of Urban Horticulture	2	061121G	\$35,424	\$35,424	\$72,619	
Research							
Doctorate by Research	Doctor of Philosophy - Science	4	056958E	\$34,880	\$34,880	\$150,337	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
Higher Doctorate	Doctor of Science [by compilation of papers]	na*	na	\$7,584	\$7,584	\$7,584	The graduate course fee is for compilation/submission of papers and/or Examination fee for the course.
Masters (Research)	Master of Philosophy - Science	2	061958G	\$34,880	\$34,880	\$71,504	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.

#### Estimated course tuition fees for students commencing a graduate course offered by the Office for Environmental Programs in semester one 2016.

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Environment	0.5	040953G	Subject-based fees apply	\$15,998 - \$18,176	\$15,998 - \$18,176	_ See table 4 for subject-based fees and details.
Graduate Diploma	Graduate Diploma in Environment	1	040954G	Subject-based fees apply	\$31,996 - \$36,352	\$31,996 - \$36,352	
Master of Environment Coursework	Master of Environment	2	076197J	Subject-based fees apply	\$31,996 - \$36,352	\$65,608- \$74,536	
		1	040955F	Subject-based fees apply	\$31,996 - \$36,352	\$31,996 - \$36,352	

Subject-based fees apply. Fees shown are indicative only and will vary depending on the number of subjects undertaken, their credit point value and the discipline band for each subject undertaken during the

#### **Faculty of VCA and MCM**

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework							
Graduate Certificate	Graduate Certificate in Music (Musicology/Ethnomusic ology)	0.5	056280B	\$28,160	\$14,080	\$14,080	
	Graduate Certificate in Voice Studies	0.5	na	\$26,530	\$13,265	\$13,265	
Graduate Diploma	Graduate Diploma in Music	1	056297D	\$28,160	\$28,160	\$28,160	Fee shown is for all available streams
	Graduate Diploma in Voice Studies	1	na	\$26,530	\$13,265	\$27,193	1 EFTSL usually completed over 2 years.
Masters (Coursework)	Master of Community Cultural Development	2	075493J	\$29,696	\$29,696	\$60,877	
	Master of Contemporary Art	2	075494G	\$29,312	\$29,312	\$60,090	
	Master of Dance	1.5	085430G	\$29,312	\$29,312	\$44,701	
	Master of Design for Performance	2	085429A	\$29,312	\$29,312	\$60,090	
	Master of Directing for Performance	2	085432F	\$29,312	\$29,312	\$60,090	
	Master of Dramaturgy	1	085431G	\$29,312	\$29,312	\$29,312	
	Master of Film and Television	2	075498D	\$37,120	\$37,120	\$76,096	
	Master of Music (Performance Teaching)	1.5	076226J	\$28,160	\$28,160	\$42,944	
	Master of Music Therapy	2	055550D	\$28,160	\$28,160	\$57,728	
	Master of Producing	1.5	075500D	\$29,312	\$29,312	\$44,701	
	Master of Production Design for Screen	2	081322M	\$29,312	\$29,312	\$60,090	
	Master of Screenwriting	1.5	075501C	\$29,312	\$29,312	\$44,701	
	Master of Writing for Performance	1	075502B	\$29,312	\$29,312	\$29,312	
Research	Destar of Philosophy		05.00.004	Ć20.4C0	¢20.460	6424.272	Manifestor and advantage about
Doctorate by Research	Doctor of Philosophy - Music	4	056960M	\$28,160	\$28,160	\$121,373	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
	Doctor of Philosophy - Victorian College of the Arts	4	059249K	\$30,624	\$30,624	\$131,993	Note: as above
Masters (Research)	Master of Fine Arts (Community Cultural Development)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Contemporary Music)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Dance)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Film and Television)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Interdisciplinary Arts Practice)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Music Theatre)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Production)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Theatre)	2	075321G	\$28,704	\$28,704	\$58,843	
	Master of Fine Arts (Visual Art)	2	075321G	\$28,704	\$28,704	\$58,843	

## Faculty of VCA and MCM (cont)

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Research							
Masters (Research)	Master of Music (Music Performance)	2	006671A	\$28,160	\$28,160	\$57,728	
	Master of Music (Music Therapy)	2	006671A	\$28,160	\$28,160	\$57,728	
	Master of Music (Musicology/Ethnomusic ology)	2	006671A	\$28,160	\$28,160	\$57,728	
	Master of Music (Composition)	2	006671A	\$28,160	\$28,160	\$57,728	
	Master of Music (Jazz & Improvisation)	2	006671A	\$28,160	\$28,160	\$57,728	
	Master of Music (Interactive Composition)	2	006671A	\$28,160	\$28,160	\$57,728	
	Master of Music (Music Psychology & Performance Science)	2	006671A	\$28,160	\$28,160	\$57,728	

## **Faculty of Veterinary and Agricultural Sciences**

Course type	Course name	Duration (EFTSL)	CRICOS code	2016 International course fee (\$AUD/EFTSL)	Estimated fee year 1 (\$AUD)	Indicative total course fee (\$AUD)	Notes for commencing international students
Coursework	Cardinata Cantificata in	0.5	0051010	¢26,022	¢10.41¢	Ć10 41C	
Graduate Certificate	Graduate Certificate in Agricultural Sciences	0.5	085101C	\$36,832	\$18,416	\$18,416	
	Graduate Certificate in Food Science	0.5	042903B	\$36,832	\$18,416	\$18,416	
	Graduate Certificate in Veterinary Public Health (EAD)	0.5	na - online	\$23,840	\$8,940	\$12,069	Normally completed part-time. Estimated fee yr 1 shown is for first year of study, commencing semester 2 2016 (3 std subjects in 2016 and 1 std subject in 2017).
Graduate Diploma	Graduate Diploma in Agricultural Sciences	1	085100D	\$36,832	\$36,832	\$36,832	
•	Graduate Diploma in Food Science	1	041484B	\$36,832	\$36,832	\$36,832	
	Graduate Diploma in Veterinary Public Health (EAD)	1	na - online	\$23,840	\$8,940	\$24,585	Normally completed part-time (up to 6 standard subjects completed per year). Estimated fee yr 1 shown is for first year of study, commencing semester 2 2016 (3 std subjects in S2 2016 and 3 standard subjects in S1 2017).
	Graduate Diploma in Agribusiness for Veterinarians	1	088480G	\$36,832	\$36,832	\$36,832	Fees subject to final approval
	Graduate Diploma in Veterinary Professional Leadership and Management	1	088481F	\$38,656	\$38,656	\$38,656	Fees subject to final approval
Masters (Coursework)	Doctor of Veterinary Medicine	4	071999D	\$60,928	\$60,928	\$262,607	
	Master of Agribusiness [Mode: through online and intensive delivery]	1.5	na	\$36,832	\$36,832	\$56,169	Course available through online and intensive delivery
•	Master of Agricultural Sciences	2	085097E	\$36,832	\$36,832	\$75,506	
•	Master of Food and Packaging Innovation	2	083118K	\$39,328	\$39,328	\$80,622	
•	Master of Food Science	2	061970M	\$36,832	\$36,832	\$75,506	
Danash	Master of Veterinary Public Health (Emergency Animal Diseases)	2	na - online	\$23,840	\$8,940	\$50,876	Normally completed part-time (up to 6 standard subjects completed per year). Estimated fee yr 1 shown is for first year of study, commencing semester 2 2016 (3 std subjects in S2 2016 and 3 standard subjects in S1 2017).
Research  Doctorate by	Doctor of Philosophy -	4	056964G	\$36,832	\$36,832	\$158,751	Maximum course duration shown.
Research	Agricultural Sciences	·	0303010	<del>+50,00</del> 2	<b>400,002</b>	¥150)751	Total indicative fee based on maximum duration. May be completed in 3-4 EFTSL.
•	Doctor of Philosophy - Veterinary Science	4	056965F	\$41,280	\$41,280	\$177,922	Note: as above
Higher Doctorate	Doctor of Veterinary Science [by compilation of papers]	na*	na	\$2,976	\$2,976	\$2,976	The graduate course fee shown is for compilation/submission of papers and/or Examination fee for the course
Masters (Research)	Master of Philosophy - Agricultural Sciences	2	061966G	\$36,832	\$36,832	\$75,506	Maximum course duration shown. Total indicative fee based on maximum duration. May be completed in 1.5-2 EFTSL.
	Master of Philosophy - Veterinary Science	2	067211B	\$41,280	\$41,280	\$84,624	Note: as above
	Master of Veterinary Science	1.5	006676G	\$41,280	\$41,280	\$62,952	
	Master of Veterinary Science (Clinical)	1.5	na	\$41,280	\$41,280	\$62,952	Only available with concurrent enrolment in M Veterinary Studies.

## Table 4: 2016 international graduate subject fees

The subject fees in table 4 set out the basis for calculating your tuition fees but do not necessarily represent the fees for a typical graduate enrolment where subject fees apply. The fees shown in table 4 are for each 100 credit points (1 EFTSL)<sup>3</sup> of study in that discipline fee band. Graduate courses with subject-based fees may require students to enrol in subjects from more than one discipline fee band for the normal study load per year.

Broad area of study	Discipline fee band	2016 international graduate subject fee
		(\$AUD/EFTSL)
Agriculture, Engineering,	Agriculture (including Agriculture - Dookie)	\$36,832
Sciences and Veterinary Science	Computing	\$37,376
	Engineering	\$37,376
	Information Systems	\$37,376
	Mathematics, Statistics	\$33,824
	Optometry	\$40,352
	Optometry (Distance Education)	\$16,448
	Science	\$33,824
	Surveying	\$37,376
	Veterinary Science	\$43,360
	Veterinary Science (online)	\$30,560
Built & Natural Environment	Built Environment	\$36,512
Business and Economics	Accounting, Administration, Commerce, Economics	\$38,656
Education	Education	\$30,240
Health and Medical Sciences	Behavioural Science	\$41,568
	Dentistry	\$57,344
	Health (non-clinical)	\$41,568
	Medicine	\$57,440
	Medicine (clinical)	\$57,440
	Medicine (PhD)	\$42,272
	Nursing	\$27,680
	Other Health	\$41,568
	Physiotherapy	\$41,568
Humanities, Social Sciences and Languages	Arts, Foreign Languages, Humanities, Social Studies	\$30,528
Law	Juris Doctor	\$37,888
	Law	\$37,888
Music, Visual and Performing Arts	VCA (AVS group 1)	\$48,160
	VCA (AVS group 2)	\$32,128
	VCA (AVS group 3)	\$41,792
	VCA (General)	\$30,112
	VCA (Performing Arts)	\$30,112
	Visual and Performing Arts	\$29,504

<sup>&</sup>lt;sup>3</sup> 100 credit points is a standard full-time study load for one year of study.

## **Table 5: 2016 Study Abroad tuition fees**

A fee has been set for each Study Abroad course offered by the University. As indicated, the fee is the cost per semester enrolled. Semester 1, 2016 covers the period January to June 2016; Semester 2, 2016, July to December 2016.

For Graduate Study Abroad, you'll be enrolled in either Graduate band 1 or Graduate band 2 depending on the discipline areas for the majority of your subjects.

Study Abroad course	Discipline area	CRICOS code	2016 Study Abroad fee (\$AUD per semester)
Graduate - Band 1	Arts; Built Environment; Commerce; Education; Music, Visual and Performing Arts – for studies in all areas except Film and Television, Opera Performance; Nursing and Social Work	045530B	\$14,768
Graduate - Band 2	Agriculture; Behavioural Science; Dentistry; Engineering; Health Sciences; Law; Medicine; Music, Visual and Performing Arts – for studies in Film and Television, Opera Performance; Physiotherapy; Science; Veterinary Science	045531A	\$18,140